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CID: 413, 416
	CID
	Section
	Page
	Line
	Comment
	Proposed Change
	Resolution

	413
	9.24.1
	190
	32
	If AP1 sees AP2 and AP3, but AP2 and AP3 don't see ach other, and there are clients between AP2 and AP3 associated to AP2 or AP3 and these clients can each see both AP2 and AP3, then these clients always receive collided beacons from their associated beacons. 9.24.3 cannot help if these beacons are unintelligible due to the collision
	Clustering needs to be significantly enhanced to be robust enough for deployment. 
	DISAGREE: This is an important topic, yet this comment is not actionable in its current form. The commenter is requested to bring a submission to address the issue.


	416
	9.24.2
	192
	33
	Clustering seems to address simple static, inward mobility & outward mobility use cases with AP-AP connectivity where-ever there is AP-client-AP connectivity. But in inward and outward mobility cases, we expect a range of times with AP-client-AP connectivity without AP-AP connectivity. See for example C1-AP1-C2 approaching C3-AP2-C4 - first C2 and C3 are in range of both APs but the APs cannot see each other. Further, we can expect cases with linear connectivity: AP1-AP2-AP3-AP4, which cannot be solved by clustering.
	Clustering needs to be significantly enhanced to be robust enough for deployment. 
	DISAGREE: This is an important topic, yet this comment is not actionable in its current form. The commenter is requested to bring a submission to address the issue.


CID: 238
	CID
	Section
	Page
	Line
	Comment
	Proposed Change
	Resolution

	238
	11.2.3.1.3
	255
	25
	An AP has always used the DTIM element to schedule multicast. There doesn't seem to be any good reason to change this
	Limit this ATIM behavior to PCPs. For APs, use the standard DTIM transmission mechanism and/or DMS
	DISAGREE: As shown in the figures in 11/0250, there is little efficiency difference between the ATIM frame and TIM IE schemes for a range of important scenarios. Further, given the likely need for replicated directional groupcast transmissions, the DTIM is not as useful as in other bands.


Assumptions:
    sifS = 3e-6;
    plcpHeaderS = (1091 + 655 + 242)*1e-9;
    ackOctet = 14;
    atimOctet = 26;
    atimBps = 1000e6;
    beaconBps = 27e6;
    timInefficiency = 4; % i.e. 1 in 4 clients happen to transmit in a given DTIM/ATIM

    timTimeS = nSector * 8*ceil(1+1+3+timInefficiency*nClient/8)/beaconBps;
    atimTimeS = nClient * ( (plcpHeaderS+8*atimOctet/atimBps) + sifS + (plcpHeaderS+8*ackOctet/atimBps) ); % YYYY Rather simplified
Observations:

· Top left (Above thicker black line): ATIM frames are favored; bottom left (below thicker black line): TIM IE is favoured. 
· 20 clients near a 1-sector AP is not a likely deployment model; 16-64 antennas is much more feasible

· Then most feasible cases, ATIM is favored or there is little difference (i.e. percentage difference <10% or absolute difference <100 us) between the two techniques.

· Using a higher data rate or a reduced proportion of active clients (i.e. a higher timInefficiency) would advantage ATIM more; conversely a lower data rate or a higher proportion of active clients (i.e. a lower timInefficiency) would advantage DTIM more 
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Abstract





This document proposes resolution to TGad D1.0 CIDs 238, 413 and 416.
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